_,n.___._AF'da_E‘I 7

S C]n]d DeVelopment and .
i : PedagOgy E

m_'aﬁ':“. qari d E:':I_'..-._l'.i_'."t'_ S

s vl

1’ A hell!'istic B neiaty o ! e Er&ﬁza?% e e
A, Ruleofthumb e mwﬁm g et A
W7 B, aprotocol i i e S : / R
5 i : A e B. u.aw’ram - T
o a strategy.. i mmwh g e gl

D, anemor A RN S o t’.<‘=F:||I|5
j A b qmzra?ﬁ
i Wh1chofthefollounngt)’pe°f R 1 mﬂaﬁimmﬁﬁmmwaﬁﬁ
- assessment would be more beneficial %mﬁmﬁ%ﬂﬁﬁﬂ?ﬂmw T

: ts ability:to A
for assessing studen D -mmmm

~ debate? o _ 1
A Formativeassessment A, TEATCHE {eIiF
_B. Portfolio assessment -~ . ,/B/qﬁéqﬁ'%ﬁqmq -

C Summative assessment e ._ C WW
: D PéﬁO@mce agsessment . D mhw
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' 3. :ﬁ%ﬁi‘mﬁrwqam%aa%mm%
Pay attentlon % the statement gnven '{q%-,—cf‘r R EE_& EI—EFI _
below and its reason and choose the * ﬁarﬁmﬁ

: °Ol‘rect answer from the answer code *hi- 8
Eiven, - aﬁmaﬁw%mmuﬁw A
+ Statement : On the ba51s of Physwal mmm%aﬁmﬁﬁmﬁﬁ'&ﬂ% |
Stlmulatmn it can be found whether a ' ‘ B
Person is lying or telling the truth, i q
Rationale : Lying is a type of e %m@mﬁ AATCHeh -&i ,
cognitive response. - | e 2l - ' ' ""
A. f(t)izgent and rationale both are o Wﬁﬁ'ﬁiﬂ%l '. ?
~ B. The statement is correct but the : B. Wqﬁ%mﬁ I“" @l . 5
rationale is wrong. :

C. aaﬁq—g&%%mnaa%

C. The rationale is correct but the

statement is wrong, - _ X D2 Wwa%a:ﬁ 5 2 - 6
D. Both statement and rationale are | ' '
wrong. : i
. Ateacherin a multlcultural classroom 4. a@ﬁﬁﬁﬁ%"%&’f &+ ‘IF?-ITEW 'Ef E% «
would ensure that the assessment ﬁ'fw‘qg‘aﬁrﬁﬂﬁm 2
considers the following- ﬂ
A. Rehablllty and validity of 4, & QH%H%I :
assessment tool : W%Wﬁiﬁm@ﬁmﬁaﬁﬁ 3
B. Sociocultural context of students i IERC) ' EE

A0 Expectatlons of school
administrations by complying with
~ the minimum leve] of learning

D Standardization of the assessment
tool




What 15 the COn‘ect order of the i 5.'- WﬁWﬁWﬁﬁﬁ

_ Iowmg items j in the process of 0 T
.r‘-_flgettmg o . s Wﬁaaﬁ ol
-ﬂPmV“'” e E @ R £
£ Nonsense Syllables . ) Sl
6 0 [hassagecs . | e ) R |
- g Insight Based Learning o |
5o f‘qhs'wef on the basis of given codes- (d) g-emq e
' gt . ﬁ@fnﬁiaaﬁ 3 IR tﬂwé

A (0, ), (@), (d)

'.B (), @:.(c), (d) ot AL (), (@) @, (@

'W@@@®m:  ,  f@mmmﬁ‘
. @, ®), @ o 'C@@@@““'

| D. (@, (,®). @) |
S ﬁmmaﬁmmm%maﬁ L

" 6. The act of helping out another person .

- jsreferred to as- i e E%T‘&ﬂ?ﬂ%
- Social aidi . : |
L sooilaiding o0 gl A R
- B.-Social assistance SSieifer

C. Social behaviour
: C. amaf‘ra:a'ﬁr(

" D. WWW ¥
75 ﬁm%%aﬁﬁaﬁ@ﬁaﬁﬁﬁqavﬁﬁ -

D. Prosocial behaviour

7. Which of the followinglwill_be'

' included in the category of learning? - gftefea TS
5 oA Change in behaviour due to | A Rk m%mwﬁgﬁm I
- Practice alone = R e
B. Change in behaviour due to both ' g ot el
- practice and experience .. W@ A E?Fﬁ% < T 6?.15]_61(
- C. Change in behaviour due to . o g et q(ta(-i:l | E o ‘
s practhea expenence and drive : s C W a:ri‘i:l'a Q_a 31—'_('?(& (dﬂve) a;
- D. All types of changes. mentioned _ wwﬁ@%mwﬂaﬁ?
i ab ' - |
e b seIwhEE R
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10.

11.

O 180

Memory can be improved when
information to be learnt is-

A. Organised
B. Written
C. Spoken
D. Elaborated

Psychosocml theorists see sexuahty as
a result of-

A. Enwronmental factors

y B.. Hormonal ‘atypicality

C.. Sex chromosome atypicality
D. a combmatlon of blologlcal factors

If a child has mental age of 5 years - -
and chronological age 4 years then
what wﬂl be the IQ of child?

A. 80 B. 100
D195

What shouId‘,be the role of teacher in -

. gﬁragwﬁae‘rw%mﬁ* .

. SraTe! SITOTERR]-
A s d
B. ICRE
. dfaFe
D. R
: @fmmﬁammw%@
A. ‘q’raﬁiﬂﬂﬂm

B, ®EM SEMRIET

C. e org it srem=raT
vg/:%ﬁaammw

10. aﬁ%@aﬁaﬁmﬁamsaﬁaﬂz

mﬂﬁﬁaﬁmzl‘qﬁ%ahﬁ}‘ﬂm

FTE?
\,8400

A. 80
C. 120 - ~D:i125

11. wﬁmmﬁqmaﬁﬁwmﬁﬁﬁmﬁ

- AR T S M e SRS o g NI N |

meeting the individual differences? I “ﬁﬂ@zﬁmﬁ?}?

A. Try to know the abilities, interest - R |
and aptitude of the individuals i T A, e

B. Try to adjust the curriculum as per TSt 1 ST ?ﬂmﬁ
_ the need of the individuals B. Wﬁwﬁ;&r—ﬁ Wwaﬂ
C. Both (A) and (B) * mw@ﬁa-«maﬁrmﬁ
-D. None of these /C/(A) TS (B) 3T -
| D. T A 7 i
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velopment of the child is-
,Psychoanalyt:c method |
| Comparative method

g ':"";Il)evelopmental method

§ _\-13 A soclal cogmtlve map is-

clxques or group in children

- Obtained by asking ‘are there . -
' people who hang around together
g lot at school?’ - %
c Obtalnmg by combmmg
~_information from dlfferent
~ informants

. ]) All of the above

14 Vygotsky considered language to be- -

A. Cultural tool
B Fun.
_'_C Umque
_D. Meaningless

est'method to study the growth & 12 aﬁ%ﬁﬁzﬁmm Eﬁﬁ

13. mﬁmmwﬁq ' }-ﬂn%? B
" /ﬁﬁﬁlﬁﬁq@mq@ﬁ w

Usefu] for understandlng complex

g fafer ¥

¥ ford swaft

B. ﬁwmﬁmaﬁmﬁﬁ ?ﬂﬂ?@r
e _

14. wﬁa@ﬁﬁwﬁm%@_ o __:.;i__'__: :
C. JAfgdE
D. =4




16.

| ~ Statement : Aggressiqn arises from

15. ..P-ay atfention to the Assertion and its -
" Reason given below and select the: -

- correct answer codes given below-

frustration. iy
Reason : All types of frustration g

rise to aggression.
Answer code hint-

~ A. Both statement and Reason are
~~~correct. ' .
B. The statement is correct but |
Reason is wrong. |
C. The Reason is correct but the
statement 1s wrong.
D. Both statement and Reason are
wrong. (G

ive

First development of special education
was- S - ] :
A. In America

{8, In Europe

17.

C. InIndia

D. In China

Who suggested the word “Learning
Disabled”? '

A. Kitk

B. Forbase

 C. Kabell
- D. Torrance

18

Whose statement is this “Divergent
Thinking is related with Creativity?”

A. Burt B. Stephen
C. Guilford D. Wilkins




19 jdennﬁcatmn of Gifted Chnld st
__.:{-.Educatlonal Quotlent

3, Intelligence Quotlent

'-:C Adjustment

ip! Emotion

20. ChOOSe the Wl'ong one-
A. Inclusive education strengthen the
~ process of integration.

B. Inclusive education is the analysis
of teaching learning process. -

C. Basis of inclusive education is the

theory of equality.

' D. Inclusive education is helpful in -

_adjustment with society.

21. Heredity is cons1dered as @ ===
_social structure. s

~ A. Secondary
B. Dynamic
C. Static

D. Primary

22. The most appropriate meaning of -
~ learning is-
'A. acquisition of skills
B. inculcation of knowledge
C. modification of behaviour
D. personal adjustment

,19 mmneﬁamﬁmn%

%ab,ﬂvr%| il m*"
C mﬁsﬁﬁmwm “’fﬁ?ﬂm
| el v
D. wEmE e mﬁmﬁ
| agrzra%l -

21. mﬁmﬁ@mm
é\awﬁmw%l .

22. m@mwmwﬁmﬁ%
B, gAE@ &N o
C. srERETAE
D, RETEEE
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23 A’ Hlstory teacher arranged a visit of

- students to local historical -
~monuments, while teaching ancient

of-
“A; Activity based teaching
B. Experiential teaching
C. Blended teaching
D. Project based teaching :

24. Leamingis- .
A. achange in behaviour

B.  the result of experience or practlce e

C. relatively permanent change in
behaviour

= .D.all of the above

25. Which one of the following objectives
is not required to teach envuomnental
studies?

A. To develop sensitivity towards the.

physical and social environment.

. B. To memorise basic scientific
concept and principles

C. To provide opportunities to
explore the environment

D. To develop skills like observation,

measurement, prediction and
classification

26. The main aim of education is to
develop a person’s ------

_A. Knowledge B. Body
C. Personality D. Intelligence

Indian archltecture ThlS is an examplel

26. Wwﬁ@maﬁm%wﬁﬁ%@fﬂ;

i

gﬁgmﬁmﬁmﬂmw
T g8 BT ford e R
'mﬂﬁﬂﬁl‘rmﬁﬁﬁa“wﬂg@
Jﬁﬁmm&aﬁm
B. aqgﬁﬁmﬁmﬂ '
C. fufw frr | .
D. ;rnﬁﬁmmmf«rﬁm

24, T 2-

A, R e
B. T T IR _ o
mﬁmmwﬁqﬂaﬁ:r

.25 meﬁ%%ﬁﬁ'ﬂr&f@ﬁ

U I W I HATTRH ] 27
A. %@wﬁaqm%wﬁr
Haeeierar it star

. T At srumon 3k
ﬁmw%%f

C. memﬁ%mm
HET

D. Glaﬁﬁm,mq,qﬁwﬁ(ﬁ o
Wmﬁwwﬁﬂﬁﬂmﬁﬁaﬂ

4"}'-\(__\_ Sy

ke el g- .'2.'.'—':'3..

mﬁmqml 1

J/a:ﬁm
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' "'2'7'-"':"- - cation Act is applicable for
ﬁdid[en of how many years of age?

6-14 years
7.13 years

c‘ 5 11_years

. D 6-12 years

2& WhICh of the followmg is not a study

51;111"
A Wntmg formal reports

B. Note takmg
2 (s Usmg a dictionary

D. Getting information from an
encyclopedla

' 29 Understandmg level of teaching
includes------
(), Memory
- () Insight
A Q&
B (W) & (IM)
€ D&
D () &IAV)

(II) Aptitude
(IV) Creativity

| 30. School based continuous and:

~ comprehensive evaluation is useful for

students to-
. A Reduce stress
- B. Make evaluation regular

C. Judge their own work
- D. All of the above

':'j'f.-:.:'.-:"'tto Free and CompulSOI'Y by

27. aﬁ%ﬁi&ﬁﬂﬁ@aﬁaﬁﬁm
mﬁmﬁmﬁaﬁ%m%m
_:%WL%‘? . _
: 6.14 T8
B. 7-13°9
c: 5113
D. 6127 . 9
28 ﬁﬁ%ﬁéﬁﬁﬁaﬁ?mmmﬁ
2
A aﬁwﬁﬁﬁﬂi%@m
C. smﬁmwsqthwm e
D. @ﬁmawmm L
29. RreoT ¥ THE T H M E oo

© wi (In) 3

) FEd - (V) T
A &M

B (ID&@)

C. &I

/D./(II)&(IV) _

30. ﬁﬂmmﬁrﬁmm@m&?ﬂm
%mﬁfq}%%ﬁmﬁrﬁ% 2
A FEEFIR

. B. i Fafa




| Hmdl R e
| EK ﬁ ﬁmﬂw
31. aﬁamaﬁﬁ@awﬁm . 34. ﬁ:m%aaﬂ 3"'355
A a7 + 3T __ . 3 ._/(i aggﬂﬂaﬁm%ﬁ@ﬁ;@ﬁm
B, apeR. - S quﬁﬁgmmaﬁmﬁrﬂ -
A R AR i i A el _
QD}W+3ﬁH ; e it d{ggﬂﬂﬁﬁ@ﬂﬁ?ﬁwqi%em
[ o et T ey e e <A
32 ﬁﬂ%ﬁgﬁﬂﬂaﬁﬁtﬂ’ﬂ% R R ek .
AT g e 0 el ﬁﬂfﬁf%@wwﬁm
B. 3;,3[3;?; : e ' yeeAqEs
C oX. E T n e 1-(V) aﬂ?ﬁmwﬁﬁmﬁ
/D/l i o e IR TR S
T, e
: iox a—,aa(l)@(w)m?%"f%l
. (0, (D, () T (IV) Eﬂﬁwqﬁ
%1 '
@), () & (m) W‘ﬂ'&ﬁ %l
| \ _ _. o | 'D. (IV)quHﬁ%l o
_ 33Fm—gﬁm%gaﬁquﬁ1%%? 35, oqwa?r\swuur%%ﬁ:raaaﬁrﬁ
A, T, 3, e | ""( E’)RRW' =PI Ll
B, Fivm, sl 7 T el Bl S <HRm T
- C. Ft gt Gl Gl | S B8 . T -
et @ Wwm @) s
i, e B aIbHcIVd-HI '

B &Il bV, oI, d-1

C. al, b1V, c-I, d-IIT
D. a-IV, b-I11, ¢-I1, d-I
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| -.Af'qrm. - B. Bfew
 fgwm D
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e ferse b T °2
A Y, iR, T /
D, i, iR, ST

4 aﬁﬁmr@ﬁm %%E@W%.

A d

'C.z.ﬁm

g

L Hﬁmﬁ'&?ﬁ?@ﬂﬁﬁt@w i

& gafer -
@ T (T) Slicie
(c) = @ T

A. a1V, b-IIL c-I1, d-I

B. al, b-lif, oI, 4T

C. a-ll, bIII'cIV d-I
aIV bI c-11L, d-11

: 43. nﬁmw%mﬁmqﬁﬁ% Wﬁ#{ |

1 R 87

A. 999 FHH

B. HYEH FTH
D. U HRH '
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56 ﬁnﬁr&gam%mqt@wua’r 58, qﬁmﬁﬁ“ze‘wm o (A
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e ‘ollowing passage carefully  They then charge admission to- helf

Read the (')-the questions which are - - gefray the costs of ‘maintaining th{ .

and an-swerhat is stated or implied in  parks and they often must also depen{

Efsii;;?gf Pt ~on world organisations for suppo -
€ ? - :

: ' : With the money received, they caj
> the world has become - invest in 'equipme_nt and patrols t
.Slzllczuialised, there has been an protect the animals, Another solution].
.mc:ease in the number of animal  that is an attempt to stem the tide of"
?llaecies that have either become animal extinction is an internationg

extinet or have neared extinction, boycott -Of products made froy
Bengal tigers, for instance, which once - ~endangered species. This seems fairly
roamed the jungle in vast numbers,  effective, but it will not, by itsel
now are Very few and by the Yyear : .prevent animals from belng hlmt .I -
2025 their population will be down . and killed.

zero. What is alarming about the case _ i |

of Hergal Bogr 16 fhat, s Cxtmoliofily ¢, What is the author’s main concern i

will have been caused almost entirely this passage?

Dy podchers Wh(-) accordmg e y -~ A. Problems of indhstrialisation | F

sources, are not interested in material A . i !
- gain but in personal gratification. This /B/ The Bengal tiger

is an example of the callousness thatis . °

C. Endangered species
part of what is causing the problem of

Lor _ _ D. Callousness of man = ‘
extinction. Animals like the Bengal i
tiger, as well as other endangered 62. Certain species are becoming extincgg "
species are a valuable part of world's because of- _ i
ecosystem. . - International laws A. Industrialisation
protecting these anir.nals must be B. Poaching i
enacted to ensure their survival and i 8 i
the survival of oyr planet. Countries - C. Love of products made from the_;

- around the world have begun to deal /D. All'of the above T *

- with the - Ol % S S i
o probloem 0. VALIOUS - ways.; . - 63. Which of the following best describéﬁr

0TS countries, < in. order  to the author’s attitude?. : -
circumvent  the problem, have 01 B BEIle! LN
animal regeryeg, C. Surprised D. Genero_us é -
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64, Accordmg to the pﬁséége, Poﬁche;s :
kill for- : '_
A Material gaim
B. personal satisfaction
#Both
D. None of these

65. What should be enacted to ensure
survival of endangered species?

A. Boycott of products made from
dangered specnei/
_/HVI!;temanonal laws -

C. Investment in equipments and

2 ols to protect the ammals
/D./;::le of the above i =5

66. The word ‘gratification’ in the passage

1s- -
A. anoun - '
B. averb
‘an adjective
D. none of the above
67. Which of the following word is closest
in the meaning to the word
‘circumvent’ in the given passage.

A. find a way around
B. to'go

C. avoid

D. to follow

68 “Countnes around the worl
. beng to deal W1th the pro

d have

blem in
various ways.”

The above sentence is in-

* A. Present indefinite tens¢.

B. Future indefinite tense

_/C/ Present perfect tense

D. Future continuous tense

69. The wo]’d defray in the pﬂssage

means-
A. provide

-~ B. cover

C. subsidized

AW &®)

' .705:. The Phrase ‘stem the tide m_eans*-
. A. same - e

. B. stop
C. touch

?XB./:spare

- Read the following Unseen Poem
carefully and answer the questions
“'which are based.on what is stated or
implied in the Unseen Poem. -
Come in! - the Mayor cried, looking
bigger:
And in did come the strangest ﬁgure' :
His queer long coat from heel to head- :
Was half of yellow and half of redi-
Al}d he himself was tall and thin,
With sharp blue eyes, each like a pin,

20460y s e Ll g
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- And light loose hair, yet swarthy skin,
No tuft on cheek nor beard on chin,
But lips where smiles went out and in-
There was no guessing his kith and
kin!
And nobody could enough admire
The tall man and his quaint attire:
Quoth one: It's as my great-grandsire,
Starting up at the Trump of Doom's
tone, :
Had walked this way from hIS painted
tombstone!.
He advanced to the council-table:
And, Please your honours, said he, I'm
able, . .
By means of a secret charm, to draw
All creatures living beneath the sun,
That creep, or swim, or fly, or run,
After me so as you never saw!
And I chiefly use my charm
On creatures that do people harm,
The mole, and toad, and newt, and
viper;.
And people call me the Pied Piper.
(And here they noticed round his neck
A scarf of red and yellow stripe,
To match with his coat of the self-
same cheque; .
And at the scarf's end hung a pipe;
And his fingers, they notxced were
ever straying
- As if impatient to be playmg.
Upon this pipe, as low it dangled
Over his vesture so old-fangled.)
'Yet, said he, poor piper as I am,
In Tartary I freed the Cham,
Last June, from his huge swarms of
gnats,
I eased in Asia the Nizam :

74. ‘Bewilders’ means-

- Ofa monstrous brood of vamlJ}’Te'

bats:
:nd as for what your brain bewﬂders

If I can rid your town of rats

“Will you give me a thousand gmld@rs

One? fifty thousand! - was the
exclamation

~ Of the astonished Mayor and
~ Corporation.

71. The Pied Piper demanded-

One fifty thousand guilders
B. Fifty thousand guilders

. C. 'One thousand guilders

D. Fifty one thousand guilders

: 72. Find from the following the most

suitable expression similar to “‘quaint
attire.”

~A. 0dd demeanour

B. Whimsical nature
. Strange dress
D. Elegant figure

73. Which of the following describes the

complexion of a person?

" A. Blue B. Swarthy

C. Loose D Impertment

A, confused
B. perplexed
C. enlightened
D7 (A) & (B)

- - TWZ-ZKZ-UPR-ELE-E1
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79. REadmg comprehensnon can be’ done
even if the reader- (o e
A can identify the words if the text 18
. i : “ read out to her / him. '
C fac ; AR i | B. only repeats aloud after the %
D3 none Of the above o St ~ teacher. |
76, Re cept1V° skills in lan guage ik Q 9 , C. dlclaes no(t1 know;vh the meamng ofall
A fistening and writing ! L :le Woras “; © te}:th ‘
' ~.D. does not understand-the meaning,
sp6ak1ng and readmg -\"_ ' but know the pronuncnatlon of all

/ reading and llstemng . the words in the text
. writing and speaking | o

77, Which of these is a language function? 80. For ac\c‘luiri.ng-one’s mother tongue,

@) Giving directions Y 3
() Making a request ; ..one f s 0
(c) Greetlng each other - - 2 A, just listens $ho
@ Using grammar accurately Lol B. learns grammar
A @ad(®) Ty - . C. leamns writing
J1B! @, (b) and (c) ' - : /D/ speaks the language
C)mand (@ A g S TR
P (@and (d) < = _ | el G T
78:- Read the conversatlo'n | ey o8, To cater to individual difference a
‘A :How about going to the falr‘? - language teacher should use- * -
- B:lwent. ; S - . (a) textbook
' A:When? _ i e (b) audio-lingual matenals
‘B: Tomorrow | o (c) - videos
* Here T went’ is an error related TR € (d) any one of the above
_._A _spellmg i A (9) :
B. word choice BN i /B/ (a), (b) and (¢)
Ctense e SR g C.@d -
ety D (b)and(c)

D Pronoun

T smcmonaomﬂwonxmmﬁaewm._ 
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e

- 83;

'Pr_'Od_uctive skills in 1-anguafge_ are-
A. listening and writing I
B. speaking and reading

' C. reading and listening

D. writing and speaking
For effective oral communication-

A. _oné should do granimar drill
regularly '

- B. itis appropriate to be consistently

84.

85.

Inaccurate

C. only grammatically accurate
sentences are acceptable:

D. appropriateness is more important

than grammatical accuracy
"‘Dyslexia is a ------- disorder.
(a) language :
(b) hearing

(c) kinesthetic
(d) vision

A. (a)only -

B. (a) and (b)

C. (b)and (d)

D. (d) only . |
Which is the most formal request?
A. CanIcome in?

B. May I come in?

C. MightI comein?

D. Could I come jn?

o 35 For

AL Both Assertion (A) and Reason _ ._.j

Assertion (A) and Reason R)
: . ' . . {ve. R
ose the correct alternatlV i
ig;’eﬁion (A) : For remedial teacm?g.

it is jmportant to diagnose studf_mts -

'y

Reason (R) : A diagnostic test shows |

the precise needs of the learners. -

T it PRIV

(R) are true and Reason (R) is

necessary for Assertion (A)- |
B. Both Assertion (A) and Reason i

(R) are true but Reason (R) 15

NOT the correct explanation of

Assertion (A). -, 4
C. Assertion (A) is true but Reason |
-~ (R)is false. ‘ |

e S Bk e

4 D. Assertion (A) is false but Reason

87.

OO Wy

(R) is true. -

Read the test item given below-

Arrange the following steps to make

lemonade- - | _ ;

(a) Add lemon juice, sugar and Watet_.j,:

- (b) Serve in a tumbler. -

() Stir it Nt - -
The test item tesis- '
predicting - .

grammar

word-choice ;

sequencing i

A
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33 A test 1telﬂ f°1' Speakmg can be- T |

__A 0
B oraIO"lY

ral and written

89.

' D sﬂeﬂt through actions

While teaching writing letters,
teachers should-

A. begin with free writing '_

. B. begin With writing poems

20462‘YKIWZ-ZKZ-UPR-ELE-E1

C always write letters on the

blackboard for students to copy
D begin with analysing good models

(b) drawing inference -
(c) predicting “~~

90 The subskllls of hstemng mciude- i
(a) understanding facts s

(d) understanding the main idea /

A (a) only
B @, ), ), (@ -

C. (a)and (d) only
D. (b)and (c) only -

1'-
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91. Who named

92.

Cél;gidaté_sl“’ho & Opted iy
Mathemﬂt’c

lication,
Ofapp ! 4 can d idate

SeCtIO

atlon, shou

a lic

Ma the

‘Banking Model” to 2
particular way Ofleammg°
A. Bruner- '

B. Piaget

C. Paulo Freire

D. Vygotsky

What is expected ina constructlve
classroom?

() children peacefully follow the -

teacher.

(b) actively participate in the

activities.

- (c) discuss openly.
- (d) practice solved questions.

A. (2) and (b) only
B. (b)and (c) only

- C. (@), (b) and (d) only

D. (a), (c) and (d) only

:ence at the time
__”d,ﬂlb@ this -

< who have opted
at the time of

forw this

matics and Science

T s 3 P i < AP

Higer o1 W fem

-~ B. =

92.

C. T IR
D. FEeEsht |
T TSR Shel | T aii‘riﬁa%"

(a) ==t rifcrgeler fRveres &1 Wa&lJ

(b) Tsramereml & wfskar srefery

(o) g forem femef b

(d) T fohT St ot 37y 3R]
A. 3 (a) 31 (b)

_B. a9 (b) 3 (c)

C. %9 (a), (b) 3R (d)

' D. ¥4 (), (c) 3 (d)

]\/

?|
!'
: 1
l
1
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" pould be included in the
93. What'iﬂg Model’ regarding a child’s
sLeﬂfn of mathematics? \,.
- @9 standing “what learning is?”

g{;ﬁdérstaﬁding ‘how children
0 n? ;

i lsfg algorithms
0 gat‘“e. of subject matter
i‘ "(a). and (c) only .
: (b_)alld (d)only. =
G (a)',-(c) gnd (d) only
D. () (b) and (d) only _

94, The logic We use to prove the .
: tp)mhagorean Theorem’ is-
. A inductive logic

B, deductive logic

C. empirical logic

D. areative logic

95. If Q W, N and Z represent the sets of

rational numbers, whole numbers,
natural numbers and integers
respectively then what would be the
appropriate sequence to learn the
mmber system?

ANSWHZ>Q

BWo5N—>Z—Q

CN57Z5QHW
B AN SN A

A, ¥ (a) @ (©)
B. et (b) 3 (d) .
C. *ae (a), () S ()

| pmeod©

95. af* Q, W, N aﬂtzmqﬁﬁuu@mﬁ :

¥ e %1 YaRi e B o S TRt

D & T st svm =/ B
AKX N>WSZ-Q Fat '

B. WoN—>Z—Q
C. No>Z5QHW
D. Z-5>Q->N->W
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." & "2-'I-]’"7}~:+'7x2'5*"_-2"£3 likiayia Ao 9-6. ._2_i7x+7x2+-2‘x3
; 1+2x '

| . s G P
A. 2x243x+1 B. 3x*+2x+2 4 2x* +3x+1 B 3.2 +2x+2
A .C._le+3x+2 .D. xzf.2x+3 _ C X +3x 42 /j x +2x+3 \,|
G g BT g R “&.“Tgm):_l_ L
' ) 5 . . . . x J 3
~ then the value of (m—_n)_ls - : 23 (ni— A 5 27 ‘ ;
Al pEPE - RE | . , | A
— R L e e
i J— et sl OB e
98. 255 424 50 AR AT '
Thcvalueof.? +4 +6 +.. +202 : 98. 22 42 _
6 2
is- e el +4.+ +..420 T T 2-
A. 1405 B. 1504 And405 . ¢ B 150
C: 1450, ¢ v " D, 1540’ Sicalast D. 1540

99, If2x+3y Sand xy 2 thenthe

99. afy 2x+3y =8 aﬁ'{'xy_zz, s o
value of 8x> +27y is- |

gy ' 8x> +27y HIumL. |
a2 o e ; A 242000 R 400
C. 224 D. 244 < £ @20
100 The sum of first n terms of the series . 100 g Y
. =TINis il
| T gy 15 _ . ﬂvﬁ—+—+—+1—-+....%mnqa°r‘eﬁ
S Eo b= A . i i 2 |47/8:116 U

24 8 et B . AR i mpay

iAShrig B D S A g LBt 100
'Cf 27-n+l P, 2Mgnly - G orRipigi! D. 27%in ) 0
- 101. The ratio of ages of Ramesh and - 101. Tﬁﬂ@@“ﬁa‘“ﬂmm 4:5 %l 1

Suresh is 4:5. After 12 years, this

oY 9T, TE ST 52 6 &I ST, a‘r
ratio will become 5:6, then the

e P g’maﬁraﬁmm% , |
resent age - ' !
presen go_u?es 18 243& B.36‘q’l§
A. 24 years B. 36 years (a _
' C. 489% D. 60 3¢

- C. 48 years - D. 60 years
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n bers are 20% and 50% of a
102 IftW"f what % is the first number of

: i szoﬂﬂd number?
3000 b B 35%
A 3 D. 45%

(0. 1D 600 meters long is running
At i speed of 72 km/hr. In what time

\‘:qull itpass a tunnel 300 metre long?
Al 45 seCOI]dS B.

C sgseconds  D. 42 seconds

50 seconds

104 Ifxyyzthenx Z=":0
A2 B x%:l

2

_C'XY Dyx

105. prurchasmg price of 60 books is

same as selling price of 40 books, then

the gain % will be-
A 40% B. 50%
C. 45% D. 55%

106. The area of the circle in whic_h a :
square of area 144 cm” is inscribed, is-

103. @aqmaamréeoom% 72

e e
. 104, qﬁx y: yz'('ﬁl'x T R f/%

105, =fE 60 T I 6 40 TETHT k"y

102. ?Iﬁ'aﬂ'{?{[a‘ @ ?ﬁ'?ﬁqﬂ 20%.@,_;.;.;.,_« Qégo z
: 50%%,33%?1‘?8@@ apatl
A 30% .  B.35%

D. 45%

o ./ i o o & e T 31 300 T

’ﬁﬁgtﬁaﬁwmﬁﬁ-@ww e 6
wm? '
A. 45TH0S

Cz”48ﬁ%ﬂ3

_A z’z:xz

y E

Dyx2 0

ﬁwq@%w% aa'am%m : o

7al

A. 40% /E(SO/O- '\}}i ,I;_-?:_--f

C4s% DL 55% + |
/(1/ ,Y'p/({o

106, =5 7 et Rt e v e éﬁ\'ﬂ
144 ¥t 2 8, BAT-

A Gn A 627 ;\‘*“‘7*/;1 & %, C’:%ﬂi:;;*
B. n R g, AT LA e
_ PR ColBlm g 4 mfétﬁ" LA
' o ' ; s T i
AL g AR g e
. Wt & Snate 05 A
. ; U C)Q : \q/O.o' 0y
el m""”
o U g
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107; The penmetel' of a rhombus 18 160 cm.
- If one of the diagonals is 60 cm, then
the area of the thombus is-

A."30043 cm? B. 30045 om?

C. 30046 cm? D. 30047 cm?
108. The lengths of the sides of a tnangle
are S5cm, 12cmand 13 cm

respectively. What is the length of the'

o, @ﬁa@gﬁﬁw'iédﬁ 2l ‘Tﬁ'r

wﬁ;@ﬁ?ﬁﬂfiﬁrﬁtﬂ]ﬁ@ﬁfﬁ% aa

/oof 32 B, 300f @‘ﬂz
C. 300~/_ﬁtl°r2 D. 300\/_@#12

108, v e 7 ST ) st 5

&, 12 30 O 13 A ) Rgda e &

5

. perpendicular from opposite vertex to ﬁtﬁﬁiﬁﬂmq‘:mﬁwﬁ o ||§ER
the side 13 cm long? Bty A
A, : '
g chm:. . 'B. g—3-0m ; @ﬂtﬁ i vALE
135 8 s o5 13 0 e T
_—Sécm- D. Egcm s Eéﬁnﬁ D. 20
13 13 S8 e -
109. 1f the angle of a tnangle are in the 109. 7fe v st % ot oy 3T 2:3: 4
- ratio 2:3:4. Then the measurement aaaaﬁa%aﬁwmmém .
of largest angle will be- , e
A 60° 0 e B8 A ' 8_0 :
1€, 19088 e oy e _ SRl el
110. The area of four walls of a room is 10. WW@WWW@WM 6 12
216m”. The length is twice the | R R i T, ST I 3 T R o
- breadth and height of the room is 4m. ;;,—,,|-|§ 4:& 2 = et Q—,-‘W% o
Then the ﬂoor area is- ¥e : o
A. 144m? a4t o
- B. : o
B. 152m? _- 15278 % o <l
- - e 2 3
1 G4l T6am? /mztﬁ .
' D s 22 12 e
D.: 172m? _ 172*1:!}_ \7° Lo
; i i R o
l"(‘s)}xﬁ" AJ 2, . \? | b
(Y { -
T g or e
o SPACE FOR ROUGH WORK / T T8 % v g . |




t,:,tal surface 'are_a. ofa cubeis .
111 1f t;’_s 0012’ then its volume is-
qgjem® B 117643 cm’

AW
621440111 D. 2474cm’
onals of a fectangle is twice .'

. gsgonalS’
112. Tﬂedlofthe sides. The ratio of the

:iilggdf the rectangle is-
A.'Zlﬁ B2 ﬁ
5 C..l:ﬁ : D. 1:243
s o
(p=15 e DA =7 cm and _
gp=9 . The area of quadrilateral

15

i rsem?  B. 70.280m’
C. n68em”* D. 74.98cm”

114, Ifthe dia'meter of base‘of the right
circular cylinder is 14 cm and height is

. 12em, then the total surface area of**
. rightcircular cylinder is- :
 Agnem® B 836cm”

C g13em?  D. 863 cm?

ed

115 Ifthe peﬁmeter ofa right angl
n the

 Iioceles trianglle i J2 +1, the
length of the hypotenuse will be-

ST B WE
C 2 D. W2 A\

SPACE

Zﬂdm oE

X4

\A"‘% \I
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111. qﬁﬁyﬁqqmq@@ ATH '_ s I\}\-'r_"\.:_r:\

1176 cm? ¥, T ST TR 8-
A 1973 B 11763 2k
C. p744di® D, 2474%H°
1;2.@311@3:35&?@@@@%@%,
ki L L
/2:«[5. : B.Iﬁ:ﬁ p
o 4uxfy e oD, 1:243
113ABCD@QQQH%WAB=6M, "
. BC= 1_2.@"& cD =154, DA= 7 Sl
o BD = 9 Al TS HTETFAR-
3 ;e
A gssdm?  B.7028 %’ \X
fid 72.68#:&2 /944.98131#2; %4; :

114.'qﬁ@éaqﬁaaaqaa_m.wm
|4 aefr e S 12 W B, T
wf2 B, s6d

T R E | .




116. The mean of first.50 natural numbers 116, HQJIT-[ 50 WWWW%-

- | A, 24
A. 24

B o e, i B. 24.5
C. 25 ' ' G, Chi2s

D. 255 _ ' )’ 25.5

117. The arithmetic mean of the following 117. fong mmmm%
- datais- |

= ' - | 3w | 0-20 [20-40] 4060 T 60.50 T80-1001

ercentage) 40 i 0-80 1 : =T : ———

ofmarks | 020 [20-40 40-60 | 60-80|80-100| P 1 ) : A
8

No. of

students 12 13 15

L ALSS O

_ _ B. 56 .

58 Panan e e 0B ot

118. Tn the following pie-diagram, if the _ 113.ﬁqq|g;ﬁaﬁqfa§amvzo%,a‘r

- total marks are 720, then the marks Tty s R =
obtained in Mathematics are- ' .

g0 wp
U
(@,

coides j

Y rer Gl
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e ———— ot .

| :l'i.,':‘iﬁh-rate'of which Countiy 1§ 119, frer e ﬁiﬁm%ﬂﬁm@ﬂ,

119. T ore than that of Germany, i st st N7 g
399 pllowing bar-diagram? ' ST & 25% 3

tno i .

o 30 T

30 oE:

10} W
e ok
H

ﬁ_ sl 15

.E 10 -
o0 5 %
0 Countriéé

Alﬂdia B. China . ; A- w E 'I j

C. sweden D. E_ng_land : s C. s o D. ?ﬁ'ﬁ' '
120 ﬁlthe following pie-diagram, the ratio 120, fiy rs-fpr 3 3 a1l 25-34 e 3F A 35- |

ofthe personal income of the age- 44 S SARFITE AT T ATAC ®- i
. gowp 25-34to that of the age-group _

o
wn
[4®)
o

~ 100% = 2499.4 Billion -
SAe

A i
S UBES % | LN

7Di3 Lo
; /2 7 . . ¥ lo&’?< :
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* 121. Night blindness is g

aused due to

deficiency of-
_ A. Vitamin D

B. Vitamin K

- C. Vitamin A

D. Vltamm E »

122, The type of ribosomes found in |

prokaryotes is-
A. 80S B. 705
c.gos = D. 508

123. Choose the correct opt1on- ,
Assertion (A) : Some cells enters Gy
phase leading to inactivation of cell
cycle.
Reason (R) : Gy phase occurs due to
non avallablllty of mltogen and energy
rich compound. -

A. Both Assertion (A) and Reason

(R) are true and Reason (R) is the

correct exp]anatlon of Assertion
(A). . -
Both Assertion (A) and Reason

121, ﬁzﬂﬁmﬁﬁw%w-@m%‘? | %

A ferfmd
B, frenfa®

/c’ﬁarﬂﬂ

122. mﬁ@mmmww%

B. 708
D. 508

ACR0S

- C. 605

123, e e -

SRR (A) : @@aﬁﬁm Go Fen

ﬁr@ﬁaé‘rw%

TET B

B. aﬁwm)qam(maﬁwz

-

. FWER): Gy mﬁaﬁ-—r@m
- ﬁw%méﬁm/

A FTHIT (A) T R (R) SHT ad

- JARHA (R), W(A)ﬁv@t

12

B.
~ (R)aretrue but Reason (R) isnot forg s R), SfrRem (A)ﬁ‘v‘\'é’f
the correct explanation of W@Tqﬁ%l _
Assertion (A). R ]
C. Assertion (A) is true but Reason & (A) m%ﬁﬁ (R)
(R) is false. i HE (Te) 2
D. Assertion (A) is false but Reason D. s (A) HqH (T'?ﬁ) %ﬁ’ﬁ:ﬂ"
(R) 1s true. . EhT(UI (R) qd %l '
124. Cell was first discovered by- 124. {61 1 oI ST G -
A. Robert Hooke B. Leeuwenhoek /Aﬁf@ T B. W
C. Schleid - .
. iden  D. Virchow D. FEm
SPACE FOR ROUGH WORK / T T 3 fort wrg E
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125 Mﬂw answer-
ot co[umn | il
- Gross Primary Productmty

(a) gecondary Product1v1ty
‘producers _

( ) FOOd web

@ ‘Column - 1T

0 Green Plants A

(ID pate of synthesis of organic
matter by consumers

(HD Total organic matter produced

from solar energy
nterconnection of food cham :

A oI, b-1IL, ¢TIV, d-I
g, &, b-IL ¢-TIL, d-IV
¢. #I1L, b-I1, ¢-I, d-IV
D, &1V, b-I0L, ¢-11, d-I

126. Which of the following kingdoms has
nowell defined boundaries?
A. Monera
-B. Protista
C. Fungi
D. Plantae

4 Column - I.& T and select the .

-

(1)  Tehet ferEn Serehdl
(b)) Tehaes SearERar
(c) SEH
C(d) FERSE .
e - 11 B
0 Ray '
(II) SR g7 T q %
IR =
(II) B3t & G et A

A aIL bl eIV, d

'B. aL, b-L, ¢-IIL d-IV
a-IH b-Ii c-I' d—

D a-1V, b-111, c-I1, d-1

126. fier it & fra s (=) frtrhmﬁﬁ

< AL B 27

A 2T
| B. Wfewr
womuwanﬁ%ﬁk&m

o NI 5 sor

7



: A : : ) ! ’ . SadE el j!-i"ﬁ
127. Marble tile would feel cold as - 127. gfd} o e 1ot aTgew S L

compared to a wooden tile on a winter . e R REL LES e gl !
moming, because marble tile- ; CIE IS R ar
A. is a better conductor of heat than A, S %E A q #
- Wooden tile. . : e HaTEh 8]
‘ - SIRNEIRIG aaﬁq.raa@."rzﬁ’r
B. is polished while wooden tile is /B/ mq; frardft 2
not polished. ;
bR, aﬁﬁmﬁaﬁmwﬁrﬁﬁa
C. reflects more than wooden tile. w2 :
D. is poor conductor of heat than . D. TFaH ZI%W‘q?r@aqT ﬁm‘m"l‘
wooden tile. P e Wq;%;
128. Wind energy- =~ 128 et
(D is an intermittent energy. S D) wAWREEEE
(D is extremely usefiil at remoteand . (II) W@WW@‘R’ A
' (isolated places. i R
(IIm) does not depend on weathé{. k= (n) T iy
(IV) is clean energy. (V) SR |
- Choose the most appropriate answer ﬁﬁqmﬁmﬁﬁmmw
- from option given below- = 5
A.~ (D, (), (1) only A. ae (I), (ID), ()

; -'.E!
el |
ki

B. (O, @D, V)only SR, @, qv)
C. (D, (), IV) only : C. éaa(ﬁ) (IID), (IV)
D. (D), (I1I), (IV) only D. s (D), (111), (rvj
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Wh' pis Slmple type of
129 amotlg the following?

y bﬂ In straight lme
Motlbn 1n plane =
Motwﬂ in space
Moﬂon of projectile

trﬂﬂs
130. Th d er body.is called-

A Conductlon
. B Inductlon
: C cOnvectlon

D. Radlatl_on

"131. Assertion (A) Heat always flows
fom larger object to a smaller object.
~Reason (R) Various modes by which
- heat can flow are conduction,
- convection and radiation. |
Use the following key to choose the
_appropriate answer- .
* A Both Assertion (A) and Reason
(R) are true and Reason (R) is the
. correct explanation of Assertlon

(A).
B. Both Assertion (A) and Reason
" (R) are true but Reason (R) is not.

sfer Of heat from hotter body 3

et
B. sy .
C. smwdfR
D. y&wfa . :
130. 1 i & 33 R ey 1 ST

g
_'B..ﬁm -
C. a8

D, fefetor

131. F (A) waﬁaa@.ﬁaﬁﬁiﬁa‘raq .

_'ﬁafrtuarri%ﬁﬁ’l?ﬁ%l -

 F(R) : ﬁrﬁhﬁmﬁﬁﬁqﬁﬁmw
mmﬁm%%w W@ﬁﬁﬁ'{ﬂf

ﬁﬁﬂmﬁﬂwwﬁwmaﬁw o
A. W(A)aﬂIW(R)é’lﬁw%‘ i

. IR ENU(R), FH (A)FER

- R Rl '

B. W(A)a?stma{)aﬁW%

correct explanatlon of Assertion WW (R), F9 (A) 7T Hﬁ’f
. C- E:)s . n (A) is true but Reason . :
(R)f;tglié e _ | W(A)Fﬁ%qrwm)naa%i i
D Ageertion (A) s false but Reasorn ﬁ (A)W%WIWUT (R)mﬁ L
i (R) is true. | Al
WORK/WW&%%&W i

r-"l’)'”".;.I-TPR"

o T[T Rk




132'. A passenger standing in a moving

train suddenly falls forward when the _

1 comes to Stop' )
s\?ll:ilch of the following causes the

' passenger to fall?

A. Gravitational force

133,

134,

‘D. Assertion (A

B. Frictional force between
passenger’s feet and the floor

C. Inertia due to.change in velocity.
D. Muscular force

A freely suspended bar magnet rests

n- 13
A. Nbrth—S_outh direction

B. East-West direction ‘E )

C. North-East direction - ‘

D. Any direction by chance

Assertion (A) : The object distance ig
the distance of object from lens.
Reason (R) : It is measured from -
object to optical centre of the lens.

A. Both Assertion (A) and Reason
 (R) are true and Reason (R) is the

(A).

B. Both Asseriion (A) and Rea‘son
(R) are true byt Reason (R) is not
the correct eXplanation of
Assertion (4), . -

C. Assertion (A) is true

but Rééson
(R) is falge. ; '

) is false but Reason
- (R) is true, -

H2 S e e )

correct explanation of Assertion

- D. R (A) T & W RO (R) Ha"r%l

A. oY et

134. 3o (a) R GEEE Ck i

A FH(A) A FHRT (R) 3T w2

- FTTTR) F (A) 6 T

B. ® (A) A FRm R) I ey |

- trigarm(k)mm)wuﬁ
TSRO 7 R)

C. () T g ) e

SPACE FOR ROUGH WORK / T %1 o ot e _




of
o
ol = AR,
gPmiC @ Atc
()Bgnv;en (II1) At infinity
R '
@ AtF (IV) Beyond C

4 ol b eIV, deImn
g, #flL b-L eIV, d-I1
¢ LIV, oL, 41
D, &1V, b-L, o-IL, Il
136, Theimage formed by convex mirror is
always- pri A
A Redl
B Eularged Sa
C: Virtual and Enlarged -
D. Diminished F
137. The umber of compressions or "
mrefactions per unit time gives-
A F_réquency B. Time period
C. Amplitude D. Pitch

138 Loud sound can travéI a larger '
: _diS!ﬂnce due to-
A Higher amplitude
: L Higher energy
i _- C Higher frequency
e -p‘l'_Hfgh speed:

| 138.

B T e B

(a) CA¥W
(b) CW ;
(c) C 3 F FHsf=r (UD) a9

(d) F® “av) C¥
A. a-l, b-I, c-1V, d-11I i
B, MLbLcIV, e F - T

© C.aIL b1V, I, d-1II o
. 4 et v TSI

D. a1V, b, c-II, d-1IT

137, gﬁiﬁémﬁﬁfﬂ@mﬁmﬁﬁw'

_ACEER B mEdwE
- C. ImEm D. fm o
---?'-Wﬂﬁa%ﬁﬁﬁaﬁaﬁaqwaﬁ
A. ¥ W
B, FEFHA

D. aﬁ'wﬁr

SPACE FOR

s s s S JURT G

y i
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139

140. :

gbwp

d by
3 If 100 joule heat is being generate i

a 4Q resistor then calculate the by
potential dlfferencc. between the .
terminals of the resnstort

l‘\ 20 Volts  B. 1.5 Volts,

C. 25Volts  D. 400 Volts

Match the following components
Correctly-

I L

(b) Remstor (II) : /

_(c) Capac1tor -(I'II.)

(d) Diode - (IV)
a-L,bIL ¢IIL d-IV
a-IV, b-1IL, c-11, d-]
a-IV, b-1, ¢-II1, d-II
Calv, b-11, c-I, d-IIT

139‘ I 4Q gﬁﬁwm 100

@'W@%ﬁgﬁfﬁm%a
aﬁaqwrﬁawﬁmmﬁ

/Eﬁsahw D. 400 dree

i 140.'ﬁqmﬁ§amﬁmmﬁmﬁ_

& s ‘ (II) / |
© wta \\

' // oL BT, o-ITL, dy

B. a-v, _b-—IH, c-I1, d-I
C. a—IV, b_I’ C-IH, d-II

. _@f a-IV, b-11, ¢-1, d -III

~ SPACE FOR ROUGH WORK I m%mw e

et LEE e e e R e S S
ST, Ve e )



oombmatlon shows a clrcmt i

"'1 : w};lfe : tﬁf-current ﬂowmg through '..-141 ﬂﬁwmwaﬁzﬁ@m%w
whhbulb will ;Uexthe same as the S mm#%ﬁaﬁﬁ mtrﬁﬁ\' X“"'
o poit o S Sl

0] ‘ an .

o) @)
X | A
i« D)

x.

©
i 3 y x
(Iﬂ)' g : At i (m) .
/—_
4 @aad (1D) B. (II) and (IV) e AL () (m)/al) R (IV)
C. Orﬂy (II)  D. Only (IV) : . C. ¥Ea an ' D. &ad (TV')
142, o1 minute how much energy doesa ' 142. 100 W forga e 1 Wﬁ%ﬁ‘ﬁﬁ '
100 W electric bulb transfers? . wwdtwEE
A 100 - B.3607J - VR fo Ao
600 D. 360 /\f\ﬁ
CH e 76007 D. 36007
143 Statement (I) Laser hghts are hlghly 143. %97 (1) SEEIE CLIRED ﬁ?ﬂ‘%‘ﬁ?ﬁ
~ directional. . =
it;;;z:;nt gI)ILasers are used as teeth FoT (II) S (Wmaﬁﬁ'@ﬁ'ﬂe{
oy s Tl SYR 3 ¥ 8 o ST R
A. Statement (I) is true but statement
‘(M) is false. A, T (1) 9T AR e (1) W%I
B. Both the statement are true and (I) _ . B. Sl YT T & 3T (11) Ea) (I)‘Frapf / _
_isright reason for (II). ' FROTRI
_ -C_' B_Oth the st.atements are true but (I) e a‘lﬁmm%ﬁm (I) (II) WE—E&
Snot the right reason for (ID). 5 P,

D Both the statement are wrong. S i= ! ! §

B 7 SPACEFORROUGHWORK/WWW
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144. Rsrﬁiﬂ“aﬁwa;@gﬁ%@

144 A f . f istance R is cit * .o 5T
plece of wire of resis srrar gl e
into five equal parts These parts are. mﬁﬁf_&ﬁ@w% qﬁggafﬁ‘?‘q*f
then connected in parallel. Ifthe = T :
equivalent resistance of this : qq-sl—gq‘ﬂﬁfm R % ﬁf"-ﬂﬂqﬁ 1
combmatlon is R’ then the ratlo RfR 55 S
is- , . A. 1/ (e
A 125 - s b HOLED A
B. 1/5 | | e e
305 D.. 25 P '
D. 25 . . )
145, Select the correct match- 145. g S IS el
Column — I Column —1I s faer ":'_ﬂ_"‘j_:_l. R =
() Tamarind (a) Calcium @ e @ g TER|
o Liyden ) afEEEe |
(II) Lime - (b) Sodium ; T | =
- Carbonate Tl (1D ZHIE( (c) TRt 3T *l
(I) Tomato  (c) Tartaric Acid av) Fa EE (d) WH@W AT
~ (IV) Washing  (d) Oxalic Acid € =1 AT ‘
Soda '
- A _a, TI-b, III-d, V¢ -
-~ A. T-a, b, IT-d, IV-c A a1 o
B. I, Il-a, -4, IV-b B o I T4, V0 |
C. Id, -, ¢, IV C. Id, Tl-a, e, IV-b-
D. I-c,II-b, II-d, IV-a D. Ic,II-b, lI-d, IV-a
146. Lemon juice has- 146. ﬁq\%mﬁ‘eﬁﬁ; ' 3
A. More H* ions, less OH™ ions j/fp T Cﬂﬁlﬁ, OH"WW
B. More OH™ ions, less H" ions B. O ﬁ. i ‘m"ﬂ
C. Equal number of H" and OH" N 3 i
ions fiE: - H" S aar O™ 3T sie’ |
D. Only H" ions TR D. ¥aer HY o '
— . SPACE FOR ROUGH WORK / & &4 & for e
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o ofﬂle followmg statements is
© 39 .

fof 1 9 K atom?

,wg atom has 39 neutrons.
Tlle atom has 39 electrons
The atom has 39 protons..

Thﬂ atom has 19 protons.

1 pH of sahva responsible for tooth

defrﬂY o
Al becomes 6.5

g, Itbecomes 7
C Jthecomes less than 5.5
D, Itbecomes less than 7.5

149, 7p00(s) + C(s) = 2Pb(s) + CO,(g)

Which statement is true about this

reaction?
() - Lead is undergoing oxidation..

- () Carbon dioxide is undergoing

~ oxidation.
(II) Carbon is gettmg 0x1dlzed
(V) Lead oxide is being reduced

A (1) and (II).
B (MMand aAv)
C. (1) and (I1I)
D) and (IV)

Ry v 82

A. "o 39 < €
B, wemHsgmEEas )
/e./qtrrrﬂgﬁsgq‘lﬁ#%_l -

D. T 19 5 €

148. aamarw%aﬂ%pHW-

A. 6.5z‘rm
B. 7@ ST
€ s5AFART
D. 7.5 9 HHa AT
149 2PbO(s) + C(s) = 2Pb(s) + CO,(g)
s RBRT R AR B O EEE?
T T SHTE T Bl & 3
) WWWGHWW@
@
FHTelT ST ST BT TET &
T qV) oS SHTEETEe T Ta=E RS
@R |
A. (D3RI
B. (I)ARAV)~

_ € sy

D.: (I) 3R (IV) +~

- SPA

aB e
ikiwz. zKZ-UPR-ELE-F1
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0 Statement (a) A mlxture coutalns more

‘than one substance mixed j in any

L . ‘Proportion and shows the propetties of
- i1, dts constituents.

. Statement (b) Sugar is a homogeneous

: Inlxtu.re

A. Statements (a) and (b) both are
right.

% B. Statement (b) is righf but (a) iS

wrong.

.o " Statements (a) and (b) bdth are

right, but (a) 1s not'the reason for

®).

D. Statement (a) i is nght but (b) is
wrong. :

ISG.W(a)@mﬁw‘ﬁ . %

_-W(b)a‘lﬁﬁ@ﬂ‘\ﬂ?ﬁﬂfﬁﬂﬂ%'
A, o (2) AV (b) AT welt B
B. m(b)ﬂ“s"r%ﬁﬁm(a)naa%l

'D. %o (a) T R A (b)lﬂa?f.%l

3 e e PP € 8 aﬁrsﬁ
Faremas .o

A4 (a) 3T (b) AT ey &, AT @)
(b)a,ﬁrwqﬁ%l

1

o {WZ-ZKZ-UPRELE-E1

SPACE FOR ROUGH WORK / Th & & ooy . F



93.

< PACE FOR ROUGH WORK/ T T 36 for T

N

D Y PART L iy e
o e R IV (B s 2 N
il pted for S iy . | ‘ 'HT‘"'E'E
degt._the time of applicaf{'(;;l'!a! | ﬁﬂ?ﬂ:ﬂﬁaﬁ# eaﬁﬂq Q?FITFT by
2> ould solve this section and 3 arwu:raﬁrﬁq,—(:qﬁq-rm,%'ﬁ s

 pdidates who have opted for FT B 31 Ry greigaTd
| et e-and Science at the i e e fagre 1 et 1 T A
2 gpliction. should not solve this - - : ol AN
CUssge [ Section, VT ) . o TR B 22 gk
e '_'SOCial_Science' ' gt sreadd
| o 1O anc;ient s ture: i ; . I ¢ !
91, AccordiPé ™ scriptures which 91. _ HEFT
o OA';ﬂ]e' following was the purchase . Wmﬁam% ?WTW i
. marig®’ - Ci I FER L. Nl
A Gandharva Marriage 5 ' . AL rrq'é foame
B, Rakshasa Marriage o B. T foame
C. Asurd Marriage o el s fame
D. Prgiapatya Marriage” D, wwfEE |
92, According to Yagyavalkya, ‘Who has ~ 92. areres 3 sigand 3 fafed wie 1 9y
firstright on the property of a sonless 3 aq Jweh! wa R T o SATHR fHEH
husband after his death’? i R e it . S
s o Be Wife o
C. Father 'D. Brother @7 - BqFﬁ
i =l D. 9§

. rrsmafr “He(l JT %meﬁaﬂw

There is evidence of the practice of X :
“Sati Pratha’ being prevalent during  fawmR1 510 3. 5 Wi FUUSIRC IR
the Gupta period. In which inscription - frg sThrerE A adt wo 1 e
I55ued by Bhanugupta in 510 A.D. It . 3 o | | ;e
- 8 described- | s o : Pl e '
A Bhitari Inscription S o :
B Jinagarh Inscription B. S[Te i
C. Eran Inscription C. T e
D. Mandasor Inscription D. #EER AfrrE

e I s

b




'94;,'«IamaPoet myfatherlsaPhYSlclan' . 94, ‘ﬁﬁﬁéﬁ"(ﬁm%%aﬂtﬂﬁm d

i i aandmym;thefthgl‘;‘;ld;ng;aa‘gf;g‘t‘he ' ﬁﬂﬁ?ﬂﬂﬁ*&ﬁﬁi”aﬂfm *Wﬁ
- ¥z -which Veda 18 WA
1 Tk ‘;a:;asystemglven? | #44 %W%ﬂ%ﬁﬁﬁmw%‘?
A ‘Rigveda . Ao - A, R .
e
e Samveda - B o
] D. Arharvaveda' g i D.
95, Whlchggthe followmg is not correct_" =95, ﬁt:rfaf@aﬁﬁqﬁqmwgaﬁaqﬁ
_:matched? _ _. TR :
(@ Coins - Eplgraphy E (D) T - WerEw
(II) Archives — Numismatics S b (D) wfrie ke NS
-~ (II) Old-document - Paleography iy Elaﬁqaﬁn'aqg{-ﬁﬁw .
- AsQadID 2 A OFR@m
B. (W) and (1) B. (I)shtam
g ((ga(;d)(ng(m) SR,
- an
B il o "% D. (O, (1) aﬂt(m) | |
96 Whlch of the followmg place is 96. ﬁﬂ%@ﬁﬁﬁﬁqmwwﬁﬁaﬁm"
- famous for prehistoric painting? . ﬁma‘?%ﬂ;m%" !
A A]anta _ : A R :
B. Bhimbetka i P B
Ct.Dagh ST il - oo ”.
- D. Amravati Nl R AR C. 5™
, 2 D Cﬂl‘ﬁ?ﬁ

- SPACE FOR ROUGH WORK / T & fordr e




97 5 1tod"'
. pent0 on (A) The monks w
I . ﬁfja eSgﬂplStS ere nOt
0 (®R) : The monks wer
e € acty
Re e .4 in finding answers to somzu
damf’ntal questions.

 poth Assertion (A) and Reason

) are true and Reason R) is the

| con-ect explanation of Assertion
B Both Assertion (A) and Reasop
) are true, but Reason (R) is net
the cOTTeCt explanation of -
- Assertion (A). -
: C Assertion (A) is true, but Reason
(R)is false. |

D. Assertion (A) is false but Reason
(R) is true. 50

98, Where have the remains of Godibada

(Dockyard) been found in the Indus
Valley Civilization?

A. Kalibangan

B. Mohenjo Daro
- C. Banawali
- D. Lothal

99 Who among the following gave the
Purest value (3.1416) of Pi? .
i Brahmagupta
ol Bhaskaracharya
C.7 arahamihira
D A’J’abhazta ,

rrgct in the context of Ved,c v

e %f&m‘qﬂaamaﬁﬁaﬁr%-

A, W(A)aﬂtwm)ﬁﬁ%

FH(A): ma%aqaﬂﬂaﬁﬂ “ﬁ
RV (R) : wearelt el & FO Ww
F IAC @ G N ' -

T (R), U (A) Eﬁﬂgfm%'
B. 9 (A) ot (R) S AR 8,
e R (R), merFr(f’t)“?""E‘pr
SIREAT 8l 2 | -

C. 'W(A)Ws‘?% WW(R)W

2l

"D.'W(A)naa% WW(R)HE&

. 98.

99.

e B

%‘gmﬁmﬁrﬁaﬂa’@ (:ﬂan‘q@%
7 Fel AT &7 7

A, FTAETT

B. HieAsiIEel
C. SAEet
D. S

mz‘wwme 1416)ﬁmﬁlﬁdﬁﬁ

I T
A, SREE

B. MRS
D. 3Rhg

462*1“\11:7 P ’7’:-[]PR—ELE'E'1
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53 Yo, ~Where was the Buddhist Stup of ' -
 Borobudur built by the Sharlendra

Emplre‘? 0
A. Java

- B. Sumatra
. C. Malaya

",D Bah

101

"~ (c) Chandragupta Il (1) Shakraditya
(d) Skandagupta

oowp

(a) Ashoka

. Match LlSt I with List - II and select
‘the correct answer from the codes

given below-
List - I (Emperor) List - II (Titles)
(1) Vikramaditya

(I1) Priyadarshi

(b) Samudraguptd

(IV) Vikramank
a-IV, b-T1, c-IIL, d-I

a-I1, b-IV, c-I, d-III

a-IL, b-111, c-I, d-IV

a-IV, b-III, ¢-IL, d-1

100.

-

mm%mwﬁ“ T
WTTF‘IT? |

AL SEt

o
C. §am@l
Da’wﬁ

.'.q\iﬁ 1 1 g - ﬁ@rgﬂﬁaaﬁﬁmw

- 101.

ﬁmmﬁmﬁuﬁeﬁtww

B Vol J.__IL@@
(a) IAAH
() R (H) fﬁ‘“"“
(o) wmWI (1)  TTshITeeT
(d) THTH (1v) o
. a-IV, b-1I, ¢-1IL d-I |
-1, d-II1

A

 B. alILbIV,c
C
D.

. a-II, b-III, c-L, d-IV
a-IV, b-I11, c-I1, d-T

SPACE FOR ROUGH WORK / @@ % fersrme

102. Who has written that the Maurya 102. Fﬂﬁ%@%%ﬂﬁ@ﬂﬁ 6,00 oooﬁa-
Army had 6,00,000 infantry, 30,000 - © 30,000 EEER 3T 9,000 TRfT
cavalry and 9,000 elephants? 1] gy :
cavalry p A AT

~ A. Megasthenes :
B. Ptolcmy B. Eléll f ::_.
C. Pliny  C. Wi e
D. Fa-hien D. ®-&H : "




103 During the 10%11% Century CE the
~ Sufis were organized in how Many
_' " orders/Silsilas?
: : 'A. Ten
" B. Eleven
c. Twelve
D. Thirteen

Whlch of the followmg pair is not
matched‘?
A. Andal, Nammalvar - 800-900 CE
" B. Basavanna - 1100-1200 CE
" C. Shankardev, Tukaram - 1400-1500
) CE - :

D. Ramananda, Chokhamela 1600-
"1700 CE

104.

105. Select the correct answer by matchmg

. List - I with List —II.
- List-1 :
(a) Namdev
(b) Chaitanya Mahaprabhu
(¢) Ramanujacharya
(@

Ravidas
- List-1I
(I). West Bengal
(I): Maharashtra =
(IIT) Uttar Pradesh
(IV) Tamil Nadu

A. a0, b-11, c-I, d-IV
a-I1, b-I, c-IV, d-III .
a-I1, b-I1L, ¢c-I, d-IV
. @IV, b-I1L, ¢-II, d-T

oQx

103.

104.
A, IS, THIEER - 800-900‘§“1

1oﬁ-11ﬁm%mﬂﬁ?ﬁqﬁ'
_mﬁmﬁmmwm
e
B. ¥®

C. ARE
D. @@
ﬁn%rﬁgaﬁaaqahsrgﬂ%ﬁﬁ?

- B. @S- 1100-1200 8T

105.

C. Y, T - 1400- 1500=§q:1;

D. wzaﬁ@rﬁm 1600-1700§H=[

= - Iaﬁa%ﬁ Hﬁﬁmmuﬁrrﬁt
Eﬁ‘- : ;
et -1
(a) WTH’&E[
(b) S HETY
(c) THTESTE -
@) s
' ol
() ufEmsmer

() wERTSE

(D) IT IR

(V) afierrg

A. a-ll, b-11, ¢-I, d-IV
B. a-II, b-I, c-IV, d-IIT
C. a-Il, b-III, c-I, d-IV
D. a-IV, b-III, ¢-IT, d-I -

20462‘YKIWZ-ZKZ-UPR-ELE-E1

\ i
L ity L
AL Do
5 "
by (3
4 i
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10, The following st

atement(s) is/are .
related to the early traditions 0

Bhakti. Which is/are correct?
(1) During the evolution of various

forms of worship, the
saints/poets usually emerged as
leaders around whom there
developed a community of
devotees. |

(I) Brahmanas continued as
important mediators between

gods and devotees in several
forms of Bhakti. "

(III) The Bhakti traditions was usually
classified into two broad classes:.

- Saguna (with attributes) and
- Nirguna (without attributes) by
| historian. i

A. Only (D

B. (T) and (II)

C. Qand@

D.. All of the above

107. Where did the soldiers start the revolt

on I_Oth May 1857?
A. Kanpur
B. Bairakpur
C. Lucknow
'D. Meerut

S
B. @3k

._ .‘105. mwﬂuﬁqﬁﬁ it %
Tt & el 8y g i €1
O B e o

AR, /Y Sy o 0 TH
Fﬂmﬁaﬁamﬂ &

3 R g
) L

- (D) iR wiws ‘@r'e:l f‘ g

SRR g0 2 s et o
- rfieh foma Ty oy o s

C. (D3R ()

%ﬁlSS?ﬁﬁﬁﬁ.ﬁ.ﬁﬁﬁE@__:
A. FAE
B. W
D. ¥@
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éﬂ’ong the. followmg Was made

108.

ﬁlﬁlﬁaﬁﬂt%ﬁﬂﬁﬁﬁmﬂﬁ%

| T

. yemor / Subedar of the S
_f,;_g"f,f git in 16167 firan BT AR T 17
JB alﬂ‘Am"er. B. ufit TR
c. Wﬁ:i‘h L C. 3Tsfist et
. A" 3 : D. Jegeen @l
ich was the highest fi nal courtof  109. Fra ardier T AT aifam
10% Whpeal durmg the Mughal Penod? ' g’k‘-r ot ke x
pict AEEE R AT AT
w _ - ;
B, ng/ Badshah o ah-ﬁﬂ
c. Diwan-i-Ala . B. ®HR/SSE
05) K_at}‘lﬂl C. IEME-T-3Tr
' . D. Saa
- 110. Inwmch year did Akbar abohsh 110. mﬁmm&aﬁmwm%m
Jaziya tax? ' oT?
A. 1565 '
C 1567 B. 1566
D. 1568 01567 -
: ‘D. 1568
111. Shah Mal is related to which state? 111. mwmmmmﬁ%? ‘
A.. Uttar Pradesh . | A. SR .
]é‘. ;T:}Il“ ' R R
. a Pradesh R
DB'y g C. TR
. Bengal : |
L D. s
| SPACE FOR ROUGH WORK / T &4 % ford s
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i !

i 112 Who was the Governor General of

T

e ol SPACE FOR ROUGH WORK / 1% T % frd wre

L AnAs

113,

114.

115.

India at the._time of the Revolution of

18572 !
A. Wellesley B. Dalhousie

C. Canning D. Clive
Consider the following statements-

(I) Akbar has banned the practice of -

Sati where the widow was burnt
* on her husband’s funeral pyre.

(I) Akbar discouraged child

marriage and encouraged widow
remarriage among Hindus.
Which of the above statement is

correct?

A. Only (I) correct

B. Only (II) correct

C. (I) and (IT) both correct

D. (I) and (II) both wrong’

The na.me.of the General who defeated
Queen Laxmibai of Jhansi was-

Dalhousie
Hugh Rose
Dufferin
Curzon

vowp

Which of the following was not in the

Preamble of the original Constitution
of India? '

A Sovereign

B. Republic

C. Secular

D. Democratic

D @FA@IATE
114, gtefr i T TS Y R FE
A sesh
C. S . ﬂ
R W _ |
115, f & & 91 W o 7 S hy H
s 7 o
A. E'FT\JTWW‘ :
B. TR I
. ey

D. kit

;, ",;,rﬂmf'?- "71!1-7;i1_i§p;ﬁr Y.F1

4

A
) \-1
|

o N,



o following- e
Hjumn — I .
p_r?ﬂdent Talis

) 3tern1ty Leave
. _'~'mpulsory and Free Education

e (Il_g._c
' (IIU espect to National Flagand
(T‘O Ngttonal Anthem.
olumll 11 .
R ndamental R1ghts :
( ) I:undamental Duties
o (h) gmergency Provisions
i (d; I?I:f;;)t’we Prmc1ples to State
0
[a,H'b II-c, v-d

A
b, I1-d, Tll-c, TV
C e H"b III- d IV-a
DI [1-d, Ill-a, IV-b.

117. Whell was the Constitution of Itidia

~adopted?” _
A On 15 August, 1947

B On26% November, 1949
Lo On 26" January, 1950
D. None of the above

Provision :

118. WhICh Constltutlonal
sion into

bestows reservation for admis
- educational institutions?
- A Article 14

B. Aticle 15(5)

G Article 21 A

"D".-'an_e of the above-

117.

- 26a=|m°r 1950&"1

118.

b, simAaRETE
ﬁmﬁwﬁﬁm%ﬁaﬁmﬁq -

AT Y & T e §?

A R 14
 B. =R 1505

C. ATWE21FH

D.:Lmﬁ?ﬁﬁﬁaﬁfqﬁ ..
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S 119. tis ﬁue about the term of office i) . a |
4 (1) His tenure is of five years from fardl . cad
B appointment. D e T AR TE
) His tenure is of five years from o o e 3
entering the office. x qua
(1)) He holds office till the pleasure - (1) %I@"Tﬁf 031 |
of President. waE 'Ef 'ér :
(V) He retires at the gge of 75 years. : ) 5 ﬁzrrﬁqﬁr 75 Hﬁffﬁ 3:[1‘5 i
A. (D and (1D % . RS , -
and (IV) 7 | L
2' gi) and((III) ' A. (R @D |
D. @and (V) B. (03faV)
g C. () 3 (D)
| D. @3IRAV)
120. Who holds elections for Panchayats? 120 Wﬂ?ﬁ%%ﬁﬂqﬁﬂ?m%"
1 A. The State Government : o A (ST EEHR
 B. The Election Commission of India B Rt <
- C. The District Administration o 3
D. The State Election Commission | R '_
- 121. Before whom do the Judges appointed 121. Hﬁﬁwﬁmﬁwm ]
g tg‘a? Supreme Court subscribe the : T IS AT
Oa _ -
W B B & g A. Tsgafd & gHe

A. The President _ _ .
-Bs "The Chief Justice ofIndla B, W%Q@W%W

C. The Lokayukta - C. THHTIT o WHE] |
D. The Chief Election Commissioner D. qed Fatew ST & |qHEy
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3 | lature (’JfIndla
22 Th ﬂezHouse of the Peo ple
o 5 0 he Council of States i
(II) The President

The Prime > Minister and Cabmet
(D and I
([1) and (I11)
(I) () and (IV)
D'_ @, @, @D and (1v)

-. 123 Match the fOllOWlng_
Set-A Set-B
a) P- Wayes (I) Volcanoes
(b) Laccoliths (1D Igneous rock
(c) Basalt  (IIT) Earthquake
(d) Marble  (IV) Metamoxphlc rocks
3 Y aIIbIII c-1, d-IV
B. a"_IHs b- Is C- II, d-Iv
- C alV,b-IIL e-I d-T
D. a"-III, b-IV, c~II, d-I

124, Wthh one of the followmg isnota
- erosional agent?

" A Running water
‘B. Glaciers

comPI‘lSes of-

122

- @) AW

A

Waﬁtm@nﬁwﬁmﬂﬂ%

M) ToETe
(1) Tl PRGN
1v) Waﬁtmﬂnﬂtﬂ
A. (1) 3R ()

B. (1), (I) > (11D)

- Co @, apRAV) -

123,

124.

D. (D), (1), (11T aﬂt (IV)

Set-A ~ Set-B _
() P-a& @) SaEEEr
(b) deifwr () AT TEEH
(@ W& () T S
(d) HHET

A. a-IL, b-IIL, c-I, d-IV.
. a-IL, b-l, ¢-II, d-IV
a-IV, b-III, c-II, d-I
. a-IIL, b-IV, ¢-II, d-1

ﬁwﬁﬁaﬂ'—r@mm aﬁwﬁ?ﬁ
E

A a‘smganaa
B. WRRR

gow

S Comm
D.
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125 Which of the fo]lowmg parts descrlbes

126

the lithosphere?
A. Crust and Core

B. Crust and upper most' solid mantle

C. Crust and lower part of mantle
D. Asthenosphere and core

» In which one of the following layers
of the atmosphere, changes in climate

and weather take place‘? |
A. Thermosphere

B. Mesosphere

C. Stratosphere

D Troposphere

127:

128.

o0w»

.U.O.w.:»

Which i is the biggest multlpurpose
project of India?

Damodar Valley Project
Chambal Project
Bhakra Nangal Project "
Sardar Sarovar Project

Which one of the following is not
associated with Plateau?

Black soil
Igneous rocks
Deccan Trap
Khadar

125. Wﬁﬁmﬁﬁ?ﬁq

126.

127,

9T 3

AT B? ;
A. iﬁﬁﬁﬁﬂﬁ?ﬁ; ' ;
Wwﬁmwﬁﬁm
D. FHAHES qIT 1S |
@fmi
Wﬁﬁmw&ﬁﬁ%
mwmmmﬁ
A. W‘H@T

'B. HeEHEd

C. @ Hed

D. e . -
maﬁrma‘é’ra@ﬁfﬁﬂma
<]k oy B

A. an‘lartr@rtrltﬂsrm

B. Wtr&nﬁ_aqr

C. TG AT TR ST

DB wuﬂaw&eﬁam

128.

(o
a

ﬁmﬁ@raﬁq@mﬁm@rwﬁm

i

AL aﬂt«ﬁﬁz’i -
B. AmRraEgH

- C. TR |

- D. @IX

SPACE FOR ROUGH WORK / T 4 & fordr wrrg.




129‘ w-h t is the Storm that blOWS 111 Wcst

B ngal ﬂlled? I
i -. A Roﬂﬂng fortles

B. Loo.
C. Kgl Baisakhi

D. Hikaa

130. Where is the steel c1ty of India
located?
A. Bhilai, Chhattisgarh
B. Jamshedpur, Jharkhand
C. Bokaro, Jharkhand ‘
D. Asansol, West Bengal.:

131. Which of the followmg statement is
_mcorrect’?

A. Maniyari river ongxnates from
- Maikal mountain.’ -

B. Hasdeo river is the tnbutary of

Mand river.

C. Son river is the main tributary of
Ganga. ;

D. Godavari river system and
Mahanadi system is separated by
Telin valley .

129

. amaémﬁr

-130.

131.

ﬁaﬁmﬁﬁ%mﬁwﬁﬂ'

D, e, afe e

- |
A. wﬁmaﬁﬁm
B.' q

D. fer
wwmwaﬁﬁﬁﬂﬁ%?
A foers, weftee
B. SR, IREE
C. I, ARES :

Py -8 2 oo T 7
A, T 7t o SgTH ded ded 8l
B. =3a e Hie 7e H GERH TR

. | T I Y S e

“D. TRt T e SOt i AR

Tt ST et B

20462.

XXy FAST ‘[TDD T 'l?‘..'ﬁ"l

' SPACE FOR ROUGH WORK / 1% T4 % 3 wrrg
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132 | il W .
* Match the following- 132, EiC) FiRA-
~ Column —1 D -1
3 (1) ' Kabra Pahad T e—
(II) Akuri Nalah () IS
(1) Ashram of Shringi Rishi (m sFdaEr
av) Snake Park (1tny e =B T 3w
(a) Natural air conditioned area - 1
(b) Tapkara .-----—-—--E o
(c) Rock Painting (a) SRR ATTE e
(d) Sihava (b) <Rl "
A. I-c, II-a, III-b, IV-d ) da-fm
B. I, II-a, I1I-d, IV-b (d) R |
. C I-ay 'H'bs HI"ds IV-C A I-C_, II—a, IH'-b, IV-d _
D. I-a, II-c, Ill-b, IV-d B. I, II-a, [II-d, IV-b
' C. La, II'b, I-d, TV-c
D. I-a,II-c, III-b, IV-d
133. According to 2011 census, which is 133. s 2011 % wﬁwﬁ
the district with highest sex ratio and- WWWWWW
the district with lowest sex ratio in T STl e B | R
Chhattisgarh? ' SR TEE | -.
" _A. Kondagaon - Durg Al HIvSTTE 'gﬁ
B. Koria - Durg | B. Eﬁf(ﬂgﬁ ik
C. Kondagaon - Raipur C: W-W&T
D. Dantewada - Raipur D. FaaTeT - TR .
134. Sonbera Plateau is located- 134. WWW%' '
A. Raipur high land A, TARI=IH __
'B. Northern highland - B, S
D. Jashpurpat i F
_. D. SRR
_ ~ SPACE FOR ROUGH WORK / T& & & ferd wre i



135 Ba

136.

137.

: Column — I Column — 1T
(a) Siddheshwar (I). Ratanpur
Temple -
(b) Kewtin Temple . (II) Sargaon
(c) Kanthi Deval  (II) Palari
Temple

éhaf is famous for-
or W aterfall .

B! For chk Pamtmg

C. For (8¢

D. 'Fﬁf Temples

Which festlval is celebrated by the
Baiga Tribes?

A. Cherchera

B. Ratona

C. Sarhul

D. Mati Tihar

Match the following ancient religious
monuments with their locations.

(d) Dhumnath Temple (IV) Pachdhar

- A. a-I, b-II, c-1V, d-111

U 0w

a-1II, b-IV, c-1, d-1I
a-II, b-I, c-IV, d-IIT
a-IV, b-II1, c-I, d-1T -

136.

= 7.

A. ST & forg
. e Frrit o fog
C. e fere
DI LU 2
wwaﬁﬁmﬁmwm
ST 87
A. T
B. TWHT
C. &

' p. "Rt faER
Frefrfiaa S eTfiier ST &1 336
erfagfadfE |

w1 -1
@ fRmdfc @O WIR
(b) hafe HiT ()  §uTE
(c) St aaw HigT (1) TRl
(d) T HfeR (IV) T
A. a1, b-IL c-IV, d-TTT
1 1R w1
C. a_-II, b-I, c-IV, d-III
D. a-IV, b-I11, c-1, d-II
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'38. Match the place with their . 138, mwmﬁ%
transportation after reorganization of . Eﬁ_‘ﬂ%ﬁgﬁ ¥ w8 .

__ Parganas Under British Control in S mﬁaﬁljﬁ%ﬁffﬁa‘
3 Chhattisgarh. _ e I : g;fr/_
Column — T Column — 11 s ik sl —
() Lorami  (I) Raipur (ORI B B i
() Gullu = (II) Navagarh b) T (I1) el
(c) Durg (Ill) Ratanpur Gyt gt am
(d) Mungeli (IV) Dhamdha - . hgl s
A, aII, b1V, ¢, d-ITI L cnid) et '1
B. 3'-1, b‘II, C-HI, d"IV X { A.- a'II! b-IV" C-‘I’ d_II
C. alV,b-LcILdIm = = B. a-, b-II, c-III, d-IV
D. all,bLelV, a1 = . - C. a1V, b1, c-IL, d-IT
. ' D. a-IL b-l, c-IV, d-1I
139. What is the beverage made from rice 139, wﬁmﬁﬁﬁﬁaﬁaqﬂﬁ@W%
called in Bastar? : . G!'I?IT%V :
A. Salfi | A T Bk . i
B. Landa T T e
140. Chhattisgarhi Jewellery ‘Khinva’ is 140, @?ﬂmmmmﬂt%mé
worn on which part of the body? : T reft sy ' - 1
A. Finger Ty ' , - : 8
. SR A. AT A
- C. Neck | o e
© D. Wrist . o G, T 1

D. NI

SPACE FOR ROUGH WORK / AL L F ST —
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141

Choosﬂ the COHECt Optlon- Bl
. Asserto? () - Height of Hlmalayas s

e mcreasmg

Reason | R): Hlmala
fold mountams yas i Young

"~ A Both Assertion (A) and Reason

142,

(R) ar¢ correct and Reason (R) is
correCt GXplanatlon of Assertion

(A):

‘B. Both Assertion (A) and Reason

- (R) are correct but Reason (R) is’
not correct explanation of -
Assertion (A).

C. Assertion (A) is correct but s
Reason (R) is incorrect.

D. -Assertlon (A) is incorrect but
_Reason (R) is correct :

Which of the following activity is
undertaken by Central Government

. only?- )
" A. To provide Education
 B. To operate Railways

C. Agriculture Schemes

- D. To provide Employment

.S

- D.

142.

Py (R), T () T
. o () T g ()T
e R i
mmm%ﬁﬁﬂ'@@)ﬁ
d ' - A
e ferie & & A T e S
A.  frea ge ST
‘B. @@

B. 9 (A) SCHE (R)??Fﬁ a2 %

1T (R), FI (A)
LT 2l

- D. USTR Y& T

. W@zmw%wm

4

St IR O e 1 T e



143 h - Iﬁ@llﬂwm o

. ok i
143 eColumn-ito Cl?*hm_'m 1 : o Es
. Magglgnn I Qﬁ% » ﬂ_ﬁ_ﬁ _ @‘_ﬂ
- warsingh (D900 ) 2 @ AR
RO e 2l 11, Bibr b) T o REm
e (i) Kot (o) meEeE o
(c) Laxmi 1v) Jhansi ' () FER

(d) Veer Narayan Singh (

i Ay
.11, bAIIL, ¢-1V, -1 5 s (N) e

A. "
3. o, bl e IV i A. aIL bl o1y, g g
¢ ol b1V, e-1, d-1 o et . B. a-I,'b-II, c-II1, d.1v
D. aIV, b1 e, d-1H1 ' : C. a1l b-1V, ey, .1
| ' D, &IV, b, e, g1
144, Spydents of class 6 to 8 are taught = 144 FHT6 | 3ﬁmqﬁ$ﬁﬁ#ﬁwm
Social Science because- _ W‘T STEATI oy et & aTfeh ﬁ%ntﬁ
A. Topassexam. I o A qﬂa{rﬁwauﬂﬂ
 B. To develop understandmg Y s
events happening in our . e B. Wﬁ a[aqm I el ﬁmuﬁn
‘surroundings. srnde .G me@q%ﬂ e
© C. Soastofillmaps. 5t o . p mnﬁm%akﬁwﬁt
- D. To know about our v1llage and .
city. S
145. In India during British Colonization 145. Wﬁa’qﬁaﬁﬁm &+ EH ﬁq -
~ Period which Social Reform was - = mmﬁﬁww .
undertaken? D o 5 e
A. To increase age of votmg from 180z ! P A aﬁm i
- w2l - B, gﬁm@nﬁmﬁ
" B. Postal system was introduced T qﬂaﬁqﬁqﬁmﬁ,{w [
C.. Indians were given Fundamental ' 3
_ Rights | D a?ﬁ'sranmaaﬁ

D. Abolition of Sati sysfem
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146 What iS e direction of rotatlon of

-~ Earth?.

A, Eastto West
B, North0 South
c. South to North
]j west to East -

147. Wthh teachlng aid is used in clasg
room, so that students understand the
latitudes and longitudes?

A. Globe
B. Atlas
C. Maps
D. Picture chart

148. What is the role of media in

Democracy? ;
A. To make law for Nation
B. To solve disputes in a Nation

C. To report various events -
happening in a Nation.
D. To execute government schemes

149. In India; choose the correct Sequencé

of Mughal Kings-

A. Aurangzeb, Huniayun Babur, -
Jahangir

B. Babur, Humayun, Shahjahan
Jahangir

C. Babur, Humayun, Akbar,-Jahangir |

 D. Akbar, Humayun, Jahangir, Babur

146. w%%ﬁﬁmg

- C. gfgre s

147.

148.

A Eaulm
B. I 9 gfapor

D. ufymd g
opeT  Frerofedt any et O S
st 1 g 3 Rrg 1 AT
arft weE 39 87 |

AL T

B. w@¥

C. "HfeE"

D. fm=r

feper & i o1 syfirhT -

A. ¥ Ryg T S

B. 31 H fanai &l gAdA™T

.C éwfra’rl‘é’raamﬁaﬁrﬂﬁmﬂfﬂﬁ

T

q.. wrﬁzﬁwaﬁ-ﬁ ST AT

149.

A e ST ¥ Y 1T HT e
A. 3T, TATE, ST, SR
B. SIS, T, WTeSrel, Stehfi.

C. STeR, TR, STheR, TEITR
' D. ¥R, THE, SEFR, e

+
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: 150 SUPPOSB your father has applled for

ol tap water connection 6 months ago.
“_ . Buttill now no connection has been
-~ provided. Which of the following

Rights will enable you to know what

 steps have been taken by Municipal
Corporatlon? |

Right to Educatlon

Right to Constitutional Remedy
Right to Equality

Right to Information

DOowp
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